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Cracku Tip 1 - Linear equations

Linear equations is one of the foundation topics in the Quant section of
CAT.

Hence, fundamentals of this concept are useful in solving the questions of
the other topics by assuming the unknown values as variables.

Be careful of silly mistakes in this topic as that is how students generally
lose marks here.

Generally, the number of equations needed to solve the given problem is
equal to the number of variables
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Cracku Tip 2 — Linear equations

A linear equation is an equation which gives straight line when plotted on
a graph.

Linear equations can be of one variable or two variable or three variable.

Let a, b, c and d are constants and x, y and z are variables. A general
form of single variable linear equation is ax+b = 0.

A general form of two variable linear equation is ax+by = c.

A general form of three variable linear equation is ax+by+cz = d.
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Equations with two variables:

Cracku Tip 3 — Linear equations

Consider two equations ax+by = ¢ and mx+ny = p. Each of these equation
represent two lines on the x-y co-ordinate plane. The solution of these
equations is the point of intersection.

a b ,c .
If o = o # E then the slope of the two equations is equal and so they are

parallel to each other. Hence, no point of intersection occurs. Therefore no
solution.

a ,b - . :
If o # o then the slope is different and so they intersect each other at a single
point. Hence, it has a single solution.

a _b _c . e .
If o = o = B then the two lines are same and they have infinite points

common to each other. So, infinite solutions occurs



General Procedure to solve linear equations:

Cracku Tip 4 — Linear equations

Aggregate the constant terms and variable terms

For equations with more than one variable, eliminate variables by substituting
equations in their place.

Hence, for two equations with two variables x and y, express y in terms of x
and substitute this in the other equation.

For Example, let x+y = 14 and x+4y = 26 then x = 14-y (from equation 1)
substituting this in equation 2, we get 14-y+4y = 26. Hence, y = 4 and x = 10.
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Cracku Tip 5 - Linear equations

General Procedure to solve linear equations:

For equations of the form ax+by = ¢ and mx+ny = p, find the LCM of b and n.
Multiply each equation with a constant to make the y term coefficient equal to
the LCM. Then subtract equation 2 from equation 1.

Example:

Let 2x+3y = 13 and 3x+4y = 18 are the given equations (1) and (2).
= LCMof3and4is12.

=  Multiplying (1) by 4 and (2) by 3, we get 8x+12y = 52 and 9x+12y = 54.

= (2)-(1) gives x=2, y=3
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Cracku Tip 6 — Linear equations

If the system of equations has n variables with n-1 equations then the
solution is indeterminate

If system of equations has n variables with n-1 equations with some
additional conditions like the variables are integers then the solution may
be determinate

If system of equations has n variables with n-1 equations then some
combination of variables may be determinable.

For example, if ax+by+cz = d and mx+ny+pz = q, if a, b, c are in Arithmetic
progression and m, n and p are in AP then the sum x+y+z is determinable.
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Cracku Tip 7 — Linear equations

Equations with three variables:
Let the equations be a,x+b,y+c,z = d,, a,x+b,y+c,z = d, and
azX+bgy+c;z = d;. Here we define the following matrices.

a; b ¢ d b ¢ ap d ¢ a; b d;
D = as b2 Co Dm = dg bg Co Dy = | ay dz Co Dz = | ay bg dz
as b3 C3 dg b3 Ca as d3 C3 as b3 d3

= |f Determinant of D # 0, then the equations have a unique solution.

= If Determinant of D = 0, and at least one but not all of the determinants D,, D, or
D, is zero, then no solution exists.

= If Determinant of D = 0, and all the three of the determinants D,, D, and D, are
zero, then there are infinitely many solution exists.

= Determinant can be calculated by D = a,(b,c5-c,b3)-b,(a,c5-c,a5)+c,(a,bs-b,as)
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Questlo
Instructions

For the following questions answer them individually
Question 1

Suppose you have a currency, named Miso, é\\t ree de mlnatlons 1 Miso, 10 Misos and 50 Misos. In how many ways can you pay a
bill of 107 Misos?

A 17 “"'Q
/>
B 16 /
| i
\ /7
Cc 18 \ y
D 15 o
.
E 19 / —
I a
Answer: C I'_Jr

\
=
© Video Solution (? =

Explanation:
If two 50 Misos are us}the *107 can be paid in only 1 way.

If one 50 Miso |§,\used the num\&e‘r of ways of paying 107 is 6 - zero 10 Miso, one 10 Miso and so on till five 10 Misos.
If no 50 Mlsr }é used the number of ways of paying 107 is 11 - zero 10 Miso, one 10 Miso and so on till ten 10 Misos.
So, the total rl‘umber of wajs' is18

Question 2 Q\/

The price of Darjeeling tea (in rupees per kilogram) is 100 + 0.10n, on the nth day of 2007 (n=1, 2, ..., 100), and then remains constant.
On the other hand, the price of Ooty tea (in rupees per kilogram) is 89 + 0.15n, on the nth day of 2007 (n = 1, 2, ..., 365). On which date
in 2007 will the prices of these two varieties of tea be equal?

A May?21

B April 11

C May 20

D April 10

E June 30

Answer: C

C*\
Explanation: )

Price of Darjeeling tea on 100th day= 100+(0.1*100)=110

Price of Ooty tea on nth day=89+0.15n

Let us assume that the price of both varieties of tea Wo\(] d become equal on nth day where n<=100
So

89+0.15n=100+0.1n \\
n=220 which does not satisfy the condition of n<

So the price of two varieties would become equal after 1
89+0.15n=110

n=140 /j}
140th day of 2007 is May 20 (Jan=31, Feb(@’S March=31,April=30,May=20)
[]
\\ 4/
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Question 3 \\\\d 7

When you reverse the digits of the number 13, the number increases by 18. How many other two-digit numbers increase by 18 when
their digits are reversed? —

.
SN
0 7
{f o ONEY

A 5 g f )‘J

L\

< \—//I
B 6 & =

it
c 7 ﬁ
~0
D 8 \\\\:::,:
E 10 [/
Answer; B [l
\'\. ‘.\\.. /’i_,a’r
Explanation:
Let the number be xy
10y +x=10x+y+18 A1
=>9y-9x =18 y
=>y-x=2 ///
So, y can take values from 9 to 4 (since 3 is already counted in 13) // /,,.7_-;‘57_{_'2“
Number of possible values = 6 [ / f ! ‘)>
/ LA
/' / / 5\ \_\‘—‘f/

Take 3 Free CAT Moc!k (Withﬁzb{ ions)

Question 4 i 4 - ( J

S\ /
Three friends, returning from a movie, stopped to eat at a restaurant. After d ?e -\ih'é/v/f paid their bill and noticed a bowl of mints at the
front counter. Sita took one-third of the mints, but returned four because she had'a momentary pang of guilt. Fatima then took one-
fourth of what was left but returned three for similar reason. Eswaf‘ then took half of the remainder but threw two back into the bowl.
The bowl had only 17 mints left when the raid was over. How many mint§ wgre originally in the bowlI?

A 38
NEem—
B 31 A
A
\
c 41 O \\\L -
S s
\::\\\\_\\ —
D None of these .
\\\ \_\
Answer: D -y
D
i 4
© Video Solution [ )
(\ \ /1/7
Explanation: ‘\F\__////
Let the total number of mints in the bowl be n "

Sita took n/3 - 4. Remaining = 2n/3 + 4
Fatim took 1/4(2n/3 + 4) - 3. qufmn*g\ 3/4(2n/3+4)+3
Eswari took 1/2(3/4(2n/3+4)+8)’ 2 <
Remaining = 1/2(3/4(2n/3+4)|:+13) + :;/t 17 )‘\‘
=>3/4(2n/3+4)+3 = 30 => (2n/3+4) %'36 >;n 48
So, the answer is option d) G
Fig
Question 5 '. {
At a certain fast food\reataurant Brian can buy 3 burgers, 7 shakes, and one order of fries for Rs. 120 exactly. At the same place it
would cost Rs. 164.5 for IBur@s, 10 shakes, and one order of fries. How much would it cost for an ordinary meal of one burger, one

shake, and one prder of fries?
. /
f f
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B Rs.41
C Rs. 21
D Cannot be determined ]
//
Answer: A
// o
O
Explanation:

Let the price of 1 burger be x and the price of 1 shake be y and the prl eo fre
3x+7y+z=120 \j

4x+ 10y +z=164.5

=>x+3y=44.5

=>x=445-3y

=>3(44.5-3y)+7y+z=120=>2=120-133.5+ 2y C\\\

So, x+y+z = 44.5-3y +y-13.5 + 2y = 31 2

So, the cost of a meal consisting of 1 burger, 1 shake and 1 french fries = F%

Question 6 /
\.j‘—j

The number of solutions (z, y, z) to the equation = — Yy —z=25, where X, y, and z are positive integers such that < 40,y < 12,
and z < 12is \\

A 101 'k
\\N
B 99 ~

c 87 (,r'//

.\ M
D 105 \\¥w/ ;/ /

Answer: B ===
e
). “\
.' / ,. \\\/

Explanation: | )

x-y-z=25and z < 40,y < 12, zl\_~12f/

If x=40theny+z= 15{f>low since both'y : y and z are natural numbers less than 12, so y can range from 3 to 12 giving us a total of 10
solutions.Similarly, if x -'39 theny +z =14. Now y can range from 2 to 12 giving us a total of 11 solutions.

If x=38,theny+z= ; Now y can range from 1 to 12 giving us a total of 12 solutions.

Ifx=37theny+z=12w eh\wl\gwe 11 solutions.

Similarly on proceeding in the sameé manner the number of solutions will be 10, 9, 8, 7 and so on till 1.

Hence, requirgd,humber of solutions willbe (1+2+3+4....+12)+10+11

=12%¥13/2 + 21
78+21=9 (‘

— CAT Previous Papers PDF

Question 7

11 1
How many different pairs(a,b) of positive integers are there suchthat a > band o 4 b = 9?

Answer:3
y =2

/[ & N
© Video Solution / i / ( >
\ \

/ ) e
Explanation: [ // ==
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L1l Y 4
Z:wb:_ 9(a +b) ’//\k\’AQ
+ \\j

(
=>ab—9(a+0b)+81 =281

=>(a—9)(b—9) =81,a > b V.

Hence we have the following cases, ~ \
a—9=281,b—9=1=>(a,b) = (90,10) <
a—9=27,b—9=3=>(a,b) = (36,12) 4\
a—9=9,b—9=9=>(a,b) = (18,18) =

Hence there are three possible positive integral values 9)‘ (a,b)

Question 8 \
If 5° — 3¥ = 13438 and 57! + 3V = 968 M uals—

Answer:13

7
© Video Solution /

Explanation:
5% — 3¥ = 13438 and 5% ! + 3¥! = 9686~

5% + 39 x 15 = 48430 L{//’\/\/\\g
16*3Y=34992
./

3Y=2187

((

y=7 W\
f\\

57=13438+2187=1 5@;\\\

X=6 ¥

PN

r.

X+y =13 /,r
Question 9 (

|
In 2010, a "W a total of 11500 books in two categories - fiction and nonfiction. In 2015, the library contained a total of

12760 books in o categories. During this period, there was 10% increase in the fiction category while there was 12% increase in
the non-fiction category. How many fiction books were in the library in 2015?

]
|
/
/
y

A 6160

B 6600
C 6000 V'
(
D 5500 > ¢
—
Answer: B =

© Video Solution \/\,\

Explanation: \/
Let the number of fiction and non-fiction books in 2010 = 1003, 10 .\_gs\r@ctively

It is given that the total number of books in 2010 = 11500 j}
100a+100b =11500 —— Eq1 <
\\\ -
The number of fiction and non-fiction books in 2015 = 110a, 112b respectively

A

110a+112b=12760 - Eq2 \’

On solving both the equations we get, b=55, %\.:\‘6@\\\ —
.\ r::’_____d
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\

The number of fiction books in 2015 = 110*60=6600 “‘\_:\\

'/Ii%e CAT Exam Preparation App

Question 10 ;\ /f }

y.
Let a, b, x, y be real numbers such that a? \6‘2225442 + 9% = 169, and ax + by = 65.1f k = ay — bz, then

5
A 0<k<13 /f—~ >
o .r/ .-‘N‘\:‘
5
B k> 13 li
5
C k=13 o
D k=0 &N\

S
. .
Answer: D @

AN

© Video Solution
\ R

- \\ AN / /
Explanation: - V 4
(az + by)” =652
a’z? + b*y? + 2abzy = 652
k=ay—bzx
k> = a’y? + b%z? — 2abzy
(a® +b?)(2? + y?) = 25 % 169 /
222 + a?y? + b?2% + b%y? = 25 x 169

k2 = 652 — (25 x 169) / ‘
k=0 /

D is the correct answer.
Question 11

A gentleman decided to treat a few children in the following manner. He glves I of his total stock of toffees and one extra to the first
child, and then the half of the remaining stock along with one extr 2{ o the seco and continues giving away in this fashion. His total
stock exhausts after he takes care of 5 children. How many toffees were\there in his stock initially?

Answer:62 & wj
k\\//
-

Explanation:

Let the initial number of chocolates be 64x. Q\
First child gets 32x+1 and 32x-1 are left.
2nd child gets 16x+1/2 and 16x-3/2 are Ieft

]

5th child gets 2x+1/16 and 2x-31/16 are Ie}t\\\_///://

3rd child gets 8x+1/4 and 8x-7/4 are left
f
4th child gets 4x+1/8 and 4x-15/8 are Ieft(

Given, 2x-31/16=0=> 2x=31/16 => x=31/32.

.. Initially the Gentleman has 6§X/L‘E:\6‘74\31/32 =62 chocolates.

7 L \ R

LJ' /,‘ V\

Let A, B and C be three positive mtédgrs such that the sum of A and the mean of B and C is 5. In addition, the sum of B and the mean of
. iy 4

A and Cis 7. Then the sum of Aand Biis -

&

Question 12
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C 6 (( .

1/
'
D 7 \\_\M_ //:,f

Answer: C —

© Video Solution

Explanation:

Given /

A+(B+C)/2=5 => 2A+B+C=10....(J) y

(A+C)/2 +B=7 => A+2B+C=14.....(ii)

i)-(ii)=> B-A=4 => B=4+A.
00 z
Given, A, B, C are positive integers -

If A=1=>B=5 => C=3 é/\, &
\\_F. .

If A=2=>B=6 => C=0 but this is invalid as C is positive.

Similarly if A>2 C will be negative and cases are not valid.

-,

Hence, A+B=6. N

Ny
.
CAT FormuIas‘PQﬁ[QJmload Now]

Question 13

\,
Dick is thrice as old as Tom and Harry is twi@e\gs old ai ick. If Dick's age is 1 year less than the average age of all three, then Harry's

age, in years, is \\ 4
<[ \ —

.
RE\
Answer:18 \::\\7
~
[l
Explanation: . /
Let tom's age = X S
=> Dick=3x
P

=>harry = 6x N

| v'r’( /r/\ \\
Given, ] // \) T/

|
3x+1 = (x+3x+6x)/3 t\\i”////
=>x=3 p
Hence, Harry's age =-’réa§1e\ars
T
Question 14 ‘\\
\

Letk be a con§9nt. The equations kz + y = 3 and 4z + ky = 4 have a unique solution if and only if
f!

|
A [k|£2 /)
8 |k|=2&//

C k#£2
D k=2 .
A

Downloaded from cracku.in


https://cracku.in/76-let-a-b-and-c-be-three-positive-integers-such-that-x-cat-2020-slot-1?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in/blog/cat-formulas-pdf/
https://cracku.in/57-dick-is-thrice-as-old-as-tom-and-harry-is-twice-as-x-cat-2020-slot-3?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in

Answer: A

© Video Solution

Explanation:
Two linear equatlons ax+by= c and dx+ ey = f have a unique solution i \/)j

Therefore, 4 - k =k £ 4
=k £ 2]
Question 15

In May, John bought the same amount of rice and the same amount of w a he had bought in April, but spent ¥ 150 more due to
price increase of rice and wheat by 20% and 12%, respectlve If John had ent % 450 on rice in April, then how much did he spend on
wheat in May?

A Rs.560 \

B Rs.570 \ —

C Rs.590 \\
PN

D Rs.580

Answer: A l
\
=
Explanation:

Let John buy "m" kg of rice ang/}pﬁ@)f\ eat

Now let the price of rice be r"'—oh Apnﬁ,/Prlce) ay will be "1.2(r)"

Now let the price of wheat be "w" in Apr+LfI5jce in April will be "1.12(w)".
Now he spent X150 m(p/rlz in May, so 0.2(rm)+0.12(wp)=150

Its also given that h E‘t;\sphent %450 onrice in April. So (rm)=450

S0 0.2(rm)= (0.2)(450)=90 S“;Esﬁ-gting we get (wp)=60/0.12 or (wp)=500
Amount spen;,qh wheat in May wiil be 1.12(500)=%560

( J

Question16

Top-500 Free CAT Questions (With Solutions)

If x and y are non-negative integers suchthat * +9 = 2,y + 1 = zand = + y < z + 5, then the maximum possible value of 2z + y
equals

Answer:23 y

© Video Solution / =
(
Explanation: \ Q/
We can write x=z-9 and y=z-1 Now we have x+y< z+5 / ) —

=L
Substituting we get z-9+z-1<z+5 or z<15 / -
Hence the maximum possible value of z is 14 /\\,i )
N

Maximum value of "x" is 5 and maximum value of "y"is 13 \jy
Now 2x+y = 10+13=23 C\
\\\\\h?
O ))
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-~

Question 17 \\\\\://

Aron bought some pencils and sharpeners. Spending the same amount of money as Aron, Aditya bought twice as many pencils and 10
less sharpeners. If the cost of one sharpener is ¥ 2 mt{r? than the cost of a pencil, then the minimum possible number of pencils

bought by Aron and Aditya together is Q \\/7
\& r_,r-f"'-d
A 33 \

B 27 &

//
C 30 l

\ /[7
D 36 V
Answer: A

oo St IR
© Video Solution I / Ty
“U)
Explanation: L\ \_//I
Let the number of penc;ig bought by M"p" and the cost of each pencil be "a"

Let the number of shkeners bought Aron be "s" and the cost of each sharpener be "b".
Now amount spent by W(pa)+(sb)

Aditya bought (gp) pencils and}sﬂ‘lo) sharpeners. Amount spent will be (2pa)+(s-10)b
Amount spe?‘(’;(rfboth the cases is same

pa + sb = 2pa + (s-10)b orPa 10b

Now its give n\thg_qges/trbn that cost of sharpener is 2 more than pencil i.e. b=a+2
pa= 10a+20 or a=20/(p-10)

Now the number of pencils has to be minimum, for that we have to find smallest "p" such that both "p" and "a" are integers. The smallest
such value is p=11 . Total number of pencils bought will be p+2p=11+22=33

Question 18 / 7

A basket of 2 apples, 4 oranges and 6 mangoes costs the same as a basket of 1 apple, 4 oranges and 8 mangoes, or a basket of 8
oranges and 7 mangoes. Then the number of mangoes in a basket of mangoes that has me cost as the other baskets is

(
s <
Al )

A

C 10

D 12 C\\ \f’

B 0

S

Answer:

-‘w_\l \-..‘\\
7
U
\\ .

Explanation:
Let the cost of an apple, an orange and a mango be a, q, nd m respectively.

Then it is given that: \ L _,~———7
2a+40+6m = a+40+8m B

L “\
ora=2m. D
D
Also, a+40+8m =80+ 7m :
10m-7m = 40 f’

3m = 4o. /

We can now express the cost of a basket in terms ormangoes only:
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2a+40+6m = 4m+3m+6m =13m.

—

D
( w Free CAT Study Material
N/

Question 19 L

If3:1:+2|y|—|—y=é?@mdm+\x|+3y:1thenaz+2yis:

&
R
A _j N

P
F
r.

L7

B & (

i
cC o0 bf
D 1

Answer: C

© Video Solution

Explanation:

We need to check for all regions: /
x>=0,y>=0

x>=0,y<0

x<0,y>=0 Q
x<0,y<0

However, once we find out the answer for any one of the regions, we do not nee calculate for other regions since the options suggest
that there will be a single answer.

Let us start with x>= 0,y >= 0,

3x+3y=7

2x+3y=1

Hence,x=6andy=-11/3 /)

Since y > = 0, this is not satisfying the set of tules. \

Next, let us test x >= 0,y <0,

3x-y=7

2x+3y=1

Hence, y = -1

X=2.

This satisfies both the conditions. Hence, this'i rrect point.

WE need the value of x + 2y

X+2y=2+2(-1)=2-2=0. {/*

Question 20

\\
A confused bank teller transposed t Qup/ s and paise when he cashed a cheque for Shailaja, giving her rupees instead of paise and
paise instead of rupee?(.?\fter buying a toffee for 50 paise, Shailaja noticed that she was left with exactly three times as much as the
amount on the cheque! Which of the following is a valid statement about the cheque amount?

A Over Rupees 13 but less.than Rupees 14

.
£

B Over Rﬁfcees 7 but less than Rupees 8

\ 7
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c Over Rupees 22 bUt less than Rupees 23

D Over Rupees 18 but less than Rupees 19

E Over Rupees 4 but less than Rupees 5

Answer: D /
Explanation:
Let the value of cheque be x Rs and y ps and the amount she receivediis y,Rs and/x
After 50 ps is deducted she has the amount which is 3 times the am¢_//un1\ )

So 100y+x-50=3(100x+y) (After converting the amount in paise)
y= (299x+50)/97 = 3x+ (8x+50)/97 '

&
Now both x and y are integers, so from options we put x=18, (8x+50)797\“19{97 =2 which is an integer. Hence, D is the answer.

Instructions 7
O bgg
DIRECTIONS for the following two questions: Answer the quest‘bng\bckhe is of the information given below.

A certain perfume is available at a duty-free shop at the Bangkok |nternat|onal airport. It is priced in the Thai currency Baht but other
currencies are also acceptable. In particular, the shop a:c epts Euro and US Dollar at the following rates of exchange:
US Dollar 1 = 41 Bahts {\\\: \

~

Euro 1= 46 Bahts \\\ ull

~
The perfume is priced at 520 Bahts per bottle. After one bottle ipurchased, subsequent bottles are available at a discount of 30%. Three
friends S, R and M together purchase three bsztles of the perfume, agreeing to share the cost equally. R pays 2 Euros. M pays 4 Euros
and 27 Thai Bahts and S pays the remaining/amount in US Dollars.

Question 21

How much does R owe to S in Thai Baht? v

A 428

B 416 [/ if
t I'\ /) T/
C 334 &

D 324

Answer: D ‘\
\

© Video Solution

Explanation ( ;’7
Total to be paid.= 1248 B
Each has to pay =416 Baht

R paid 92 Baht
M paid 184+27 = 211 Baht
So, R owes S 416 - 92 = 324 Baht /

Question 22

How much does M owe to S in US Dollars?

Free CAT Preparati |de I,(
ﬁ \>
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B 4

c 5
D 6 "
Answer: C \

Explanation: N J

Total to be paid = 1248 Baht

Each has to pay 1248/3 = 416 Baht
R paid 92 Baht
M paid 184+27 = 211 Baht <
So, R owes S 416 - 92 = 324 Baht

M owes S 416-211 Baht = 205}Bl_'éﬁt:;5" tJ_S_DoIIars

Instructions {f \ fr
For the following questions answer'them |ndl\l|dually

Question 23

Which one of the followmg conditions must p, q and r satisfy so that the following system of linear simultaneous equations has at least
one solution, such that- p + q +r ;ré 0?
x+2y-3z=p :
2x+6y-1 1z=q
X-2y+7z =|"-r;"
LN

A 5p-2q-r=0
B 5p+2q+r=0

C 5p+2g-r=0

P4 |
D 5p-29+r=0 Pan
Answer: A A [ =
© Video Solution “' / | g \ _4
Explanation: J ( ‘ / \
Substitute value of p,q,r in the options only option A satisfies . & W | \ ). /

5(x+2y-32)-2(2x+6y-112)-(x-2y+7z) = 5x+10y-15z-4x-12y+22z-x+2y-7z =0
Question 24

A leather factory produces two kinds of bags, standard and deluxe The proflt margin is Rs. 20 on a standard bag and Rs. 30 on a
deluxe bag. Every bag must be processed on machine A and on Machlne B. The/processmg times per bag on the two machines are as

follows: ‘

Time Required {Hours/bag) N 4
Machine A Machine B
Standard Bag 4 6
Deluxe Bag 5 10

The total time available on machine A is 700 hodi’séﬁd Q{i*hlﬂéhihé/'B is 1250 hours. Among the following production plans, which one
meets the machine availability constraints and maximizes the profit?
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A Standard 75 bags, Deluxe 80 ba

B Standard 100 bags, Deluxe 60 b

4
C Standard 50 bags, Deluxe 100 bags\w/

D Standard 60 bags, Del/ke
4
Answer: A / _/\ =5y
LJ' /." \\’

L )
&
(7

Explanation: ,\I:
.Let x be no. of standa s and y be no. of deluxe bags. According to given conditions we have 2 equations 4x+5y<=700 and
6x+10y<=1250. Here optiozq%gfies both the equations.
oy
&

/4 Daily Free CAT Practice Tests

Question 251\ ;’ /

A test has 50 }stlons/ student scores 1 mark for a correct answer, -1/3 for a wrong answer, and -1/6 for not attempting a question.
If the net score of a student is 32, the number of questions answered wrongly by that student cannot be less than

A 6
A
B 12 y
y
c 3 yo
/
= //
D 9 / / g )»
) </
Answer: C / ﬂ/
I/ / 1'7—-“%
Al
&= L
b =
Explanation: \ 3
Let the number of questions answered correctly be x and the numtzéer questions answered wrongly be y.
o
So, number of questions left unattempted = (50-x-y) ~
\ “-_‘_7
So, x - y/3 - (50-x-y)/6 = 32 & ))
=>6x-2y-50+x+y=192=>7x-y =242 =>y =7x-242 ""\_‘_:-:ﬁ_u_.f.//r
Ifx=35y=3 A
€\
Ifx=36,y=10 & \
. L
So, min. value of y is 3. ~>\——
o 3 |

S,
The number of wrongly answered questions cannot be less.than 3.
NG
Instructions D

H, 7

Directions for the following two questions; Answer the questlons on the basis of the information given below.

In an examination, there are 100 question m ed |nto}h ee groups A, B and C such that each group contains at least one question. Each
question in group A carries 1 mark, each ques p B carries 2 marks and each question in group C carries 3 marks. It is known
that the questions in group A together carry at ]\astﬁo% of the total marks.

Question 26
If group B contains 23 questlo/é theﬁfhbw many questions are there in group C?
LJ / 7 'l
|| I.\ /ﬁ J
A 1 o=/

B 2 |
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~E
C 3 Ly
~
‘/\.

D Canno?’t}éfdetermined
A i

N\ y.
. /
© Video Solution

Answer

Explanation:
Group B contains 23 questions => Marks of group B = 46
Let the number of questions in A be x and in C be 77-x. pa,

Marks of group A = x
So, X/(x+46+3*77-3x) >= 60%

=> 5x >= 3(277-2x) /

=>11x>= 831 (

=>x>=75.54 \

=>x =76 (min) )

So, the possible number of questions in group C = 1.

Question 27

If group C contains 8 questions and group B carries at least 20% of the tota |ch of the following best describes the number
of questions in group B?

x
A 1llorl2
B 12o0r13 \J
C 13o0rl4 2

D 14o0r15

Answer: C \ R’f/
© Video Solution /j}

Explanation: J/
Let the number of questions in group B b )?\ /
So, number of questions in group A = 92-x \‘_//
Marks of group B = 2x

2x/(92-x+2x+24) >= 20%

=>10x >=116+x
=>0x>=116 /’/_//‘\\
=>x>=12.88 , ))\’
From the options, x can be 13 or 141 | \ Y.
I\‘ \_//
P =
\ CAT Syllabus (Download PDF)

N \
Instructions \\

An airline has a.certain free Iuggag;e allowance and charges for excess luggage at a fixed rate per kg. Two passengers, Raja and Praja
have 60 kg of’hr/gage between them, and are charged Rs 1200 and Rs 2400 respectively for excess luggage. Had the entire luggage
belonged to(qﬁe of them, tm excess luggage charge would have been Rs 5400.

Question 28 y.. f'
- 4
What is the wei oinéja's luggage?

A 20kg
B 25 kg //'
C 30kg y .
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E 40kg

Answer: D //\ &/’C\)
L& \_{
Explanation: C\

Let the limit be x and the rate of charge be k per kg. \\\\

Let the excess luggage with Raja be R kg. N
So, excess luggage with Praja = 2R kg &
Now, excess luggage with Raja + excess luggage with Praja = M

So, 3R = 60 - 2x => R = 20 - 2x/3 which was charged 1200 Also, if one person had the entire luggage, excess luggage would have been 60
- X, which would have been charged 5400. { \

2x 2z
So the charge for the excess of (20- 3) = k(% = 12§ ..(1)
Also, the charge for the excess of 60-x = k(60-x) = A(ZE—
\

Dividing (1) by (2), we get \

o [ A

(60—2z) 1200
=>3x (60—z) = 5400

Solving this, x = 15 kg

e

o
So, Praja’s luggage = 35 kg {
Question 29 \\‘///
What is the free luggage allowance? —

A 10kg / S
.f/— /”rl,\\\
B 15kg t/ { )T
V.
|4
C 20k )
g ll/\,
D 25kg N\
P,
E 30kg }\_ﬂ;
Answer: B/}
4
[
© Video Solution L/
y
7

Explanation:

Let the limit be x and the rate of charge be k per kg.

Let the excess luggage with Raja be R kg.

So, excess luggage with Praja = 2R kg

Now, excess luggage with Raja + excess luggage with Praja = 60 - 2x 9

So, 3R = 60 - 2x => R = 20 - 2x/3 which was charged 1200 Also, if one person ha ﬂé ntire luggage, excess luggage would have been 60
- X, which would have been charged 5400. /

=> (60-2x)/3*(60-x) = 1200/5400 A £
Solving this, x = 15 kg (’Q
Instructions , >
For the following questions answer them individually / o

LA

Question 30

4
=
\@
A telecom service provider engages male and female operators for answeﬁng per day. A male operator can handle 40 calls
per day whereas a female operator can handle 50 calls per day. The male and e}emale operators get a fixed wage of Rs. 250 and Rs.
300 per day respectively. In addition, a male operator gets Rs. 15 &r call he answers and a female operator gets Rs. 10 per call she
answers. To minimize the total cost, how many male operators sho Elth,e service provider employ assuming he has to employ more

N N

than 7 of the 12 female operators available for the job? \\]
o )
~ "\-H_\H
A 15 W

—
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14 A

B
Q\ \\\ -
~— I
€ 1 =
S
O
D 10 JD
Answer: D f">
£
fif
\ /
\
Explanation: ~———

Let x be no. of male and y be no. of female operators.

We have 40x+50y=1000 . ]/:__ N
2

=

S0 x = 25-(5*y/4) also 7<=y<= <
Soy can be 8 or 12. [} / ‘) el
If y=8 then x=15 and y=12 then x= 10l /’I.J

Then we have to find total cost |ncurreJlnboth the cases.
We find that cost is mlqillrhum in 2nd case when no. of males are 10.

5:\““':‘\
s L

V. Free Videos for CAT Preparation

@

Question 31 >

Every 10 yeﬁrs the Indian Government counts all the people living in the country. Suppose that the director of the census has reported
the following data on two nelghbourmg villages Chota Hazri and Mota Hazri.

Chota Hazri h\as 4522fewer males than Mota Hazri.
Mota Hazri has 4,020 more females than males.
Chota Hazri has twice as many females as males.
Chota Hazri has 2,910 fewer females than Mota Hazri.

What is the total number of males in Chota Hazri? y

A 11,264 [ y )>
/ |
B 14,174 [ , ) -

/ / 7 Gl
I
C 5,632 f/\ ( / %

D 10,154 X 5,*
Answer: C . \\/
O
\_\:\\
© Video Solution \\\Cj
. W)
Explanation: \:\\_///
Let the number of males in Mota Hazri = x ~~
No. of males in Chota Hazri = x - 4522 A

Let the number of females in Mota Hazri =y \ \
No. of females in Chota Hazri =y-2910 4 \\
(y-2910) = 2(x - 4522) =>y = 2x- 9044 + 2910 =§—\6~134 ﬁ.;/‘
Alsoy =x+ 4020

So, x +4020 = 2x-6134 =>x = 10154 %7
So, number of males in Chota Hazri = 101 54;,.{4522 =5632
L)
’ ‘FH
t 7
i 4/
Question 32 \\\_//

A change-making machine contains one-rupee, two-rupee and five-rupee coins. The total number of coins is 300. The amount is Rs.
960. If the numbers of one-rupee coins and two-rupee coins are interchanged, the value comes down by Rs. 40. The total number of
five-rupee coins is y /-\\

Jivd ’\
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B 140 l(?
A
C 60 \
D 150 s
Answer ./

Explanation:
Let the number of coins of the three denominations be x, y and z respectively.

x+y+z = 300

x+2y+5z = 960

2x+y+5z = 920

=>3(x+y) + 10z = 1880

=>3(300-2) + 10z =1880

=>900+ 7z =1880 =>2z=980/7 = 140
So, the number of 5 rupee coins is 140

Question 33

Two full tanks, one shaped like a cylinder and the other like a cone, contain jet
conical tank. After 200 litres of fuel has been pumped out from eact e
conical tank. How many litres of fuel did the cylindrical tank have when it\la%

A 700
B 1000
C 1100

D 1200

Answer: D

© Video Solution

Explanation: //:)

Let the current capacity of conical flask bQiSo, cylinder = C+500.

After pumping out 200 liters, C+300 = 2(C200) =

N

/"—"'\-\.,_\ ) .
& IR CAT Percentile Predictor
/ Y Dy
Question 34 g / / \) j‘}
{
The owner of a local jewellery storet\b‘i ree watchmen to guard his diamonds, but a thief still got in and stole some diamonds. On

the way out, the thief each watclﬁ"iﬁm, one at a time. To each he gave 1/2 of the diamonds he had then, and 2 more besides. He
X;r}ld. How many did he steal originally?

escaped with one dia
iy

D Noneoft

So, full capacity of cylinder = 700+500 = 1200~
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Answer: B

© Video Solution

Explanation: / / }

Suppose the thief stole 'x' diamonds. \

After giving the share to the first watchman, the thief has (x/2)-2 dlamoﬁd

After giving to the second watchman, the thief has (x/4)-3 diamonds.

After giving to the third watchman, the thief has (x/8)-(7/2) dlamond7’ d
This is equal to 1. So, (x/8)-7/2 =1

Solving this equation, we get x = 36

Question 35 C\\

Mirza paid one-third of the sum of the amounts paid by the @he\boys Li aid one-fourth of the sum of the amounts paid by the

Mayank, Mirza, Little and Jaspal bought a motorbike for $60. Mayank pa HS alf of the sum of the amounts paid by the other boys.
ittl }:
other boys. How much did Jaspal have to pay?

A $15 \\\\

X —
B $13 k\, r\:f'“"‘
c $17 \“‘\?}\-v

D None of these

Answer: B
\ ,./
—
© Video Solution s
Explanation: e,

Let the amount paid by Mayan !6e X. ;Gp‘.a‘mount paid by the other three = 2x
> Total bil = x+2x = 3x = 60 M x = z/iﬁ So, I\)Ifyank paid 20

Similarly, amount paid by Mirza + 3*kmmmft paid by Mirza = 60

=> Amount paid by eréa’) 15

Amount paid by thtlé,‘:\*AmSimt paid by Little = 60

=> Amount paid by Little = 12‘«\}.

So, amount pai@by Jaspal = 60 - (20+15+12) =60-47 =813

Question 36({

A car rental \agency has thjef foIIowmg terms. If a car is rented for 5 hr or less, then, the charge is Rs. 60 per hour or Rs. 12 per kilometre
whichever is m en’ihe other hand, if the car is rented for more than 5 hr, the charge is Rs. 50 per hour or Rs. 7.50 per kilometre
whichever is more. Akil rented a car from this agency, drove it for 30 km and ended up playing Rs. 300. For how many hours did he rent
the car?

A 4hr y

B 5hr /

C 6hr . / /(/”’Q\>
/ u
D None of these @/ ) =/

Answer: C /

A\
N
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Explanation: L
Suppose Akil drove the car for less than 5 hrs. In this case, by dlstancebasls;R\s 360 should be charged. This is not the case.

So he dove for more than 5 hrs. Cost comes more using tlmeWhlch |s}()s %00 i.e. he used the car for 6 hours.
Wt/
Important Verbal Ablll!:\y Questions for CAT (Download PDF)

Question 37 &

S
A piece of string is 40 cm long. It is cut into threlkgl Jﬂ;g,t piece is three times as long as the middle-sized and the shortest
piece is 23 cm shorter than the longest piece. Find th\e~len§1h of the shortest piece.
\‘\
A 27
B 5
C 4
D 9
7 3 )
Answer: C <
a g ) )‘*
( | .
&
7
Explanation: L

Let the longest piece%
Shortest piece = x - 23 “
Middle-sized piece = x/3 9

SO, X + X - 23 #%/3 = 40 => 7x/3 = 63 => X = 27

Shortest piege = 27 - 23 = 4
Question 34\ \ 2

\ J

Three travelle\@nﬁ around a fire, and are about to eat a meal. One of them has 5 small loaves of bread, the second has 3 small
loaves of bread. The third has no food, but has 8 coins. He offers to pay for some bread. They agree to share the 8 loaves equally
among the three travellers, and the third traveller will pay 8 coins for his share of the 8 loaves. All loaves were the same size. The
second traveller (who had 3 loaves) suggests that he will be paid 3 coins, and that the first traveller be paid 5 coins. The first traveller
says that he should get more than 5 coins. How much should the first traveller get?

y

-

A 5 /

B 7 i / /Z'*“)

Cc 1 // / 4 >\:///

D None of these /5 S
Answer: B \\&Q

o~ 7

Explanation: N

Suppose A, B and C have 5 pieces of bread, 3 pieces of bread aQE:I 8 coinsre m”i:?’[ively. Since in total there are 8 pieces of bread, each one
should get around 2.66 bread. So A must give 2.33 part of his é‘&t\czc ang E must give 0.33. Distributing the amount in the same ratio
of bread contribution, A must get 7 coins and B must get 1 coin. "~

u

Q\\\ —

///’ m
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Question 39 [ // /

Consider the following steps :
1.Putx=1,y=2

2. Replace x by xy

3. Replace y by y +1

4. If y = 5 then go to step 6 oy('ww/é g\tn step 5.
5. Go to step 2 (! )

6. Stop Then the final value of x eql\eﬂg //

(7
A ]- C\\ I"\\

B 24

-
—”

c 120 /7

D 720 O\ b

Answer: B\*_

© Video Solution

Explanation:
1.x=1;y=2 /

2.x=2,;y=3
===

3.x=6 ; y=4 / K ;(\:2)

4. x=24;y=5

"‘a

Hence when y=5, x will be 24

w( )
Data Interpretation for CAT Quesfip%s (download pdf)

Question 40 “-\\\
T~
3
Igbal dealt some cards to Mushtaq and himself from a full pack of playing and laid the rest aside. Igbal then said to Mushtaq. "If

you give me a certain number of your cards, | will have four t/ml as many cards as you will have. If | give you the same number of
cards, | will have thrice as many cards as you will have". Of the ﬁ\ren ices, which could represent the number of cards with Igbal?
———

A 9

B 31 \\\//ﬁ

/'/.,>

D 35 "/
/

-/
E{

Answer: B

© Video Solution

Explanation: /
Let's say Igbal has x cards |n|t aﬂy a ﬂhghtaq has y number of cards initially.

-

So first Mushtaq gave t cards to Iqblal hencl} x+t) = 4(y-t)

Now second time, Iqbalgpave t cards ’f&Mushtaq, hence x-t = 3(y+t)
Solving above two eq_uqtlons we will get x=31t and y=9t

And we know x+y<52 h 40t\<52

because t should be a whole number it will be 1 here and x=31 and y=9

¥, /
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Question 41| | },r'_,:

| bought 5 pen\s\Z pencjlé and 4 erasers. Rajan bought 6 pens, 8 erasers and 14 pencils for an amount which was half more what | had
paid. What per cent of the total amount paid by me was paid for the pens?

A 37.5%
B 62.5%
C 50%

D None of these

Answer: B

© Video Solution

Explanation:
Let the cost of pen, pencil and eraer be x,y,z respectively

5x+7y+4z = A
6x+8z+14y = 3A/2
4x+16/3z+28/3y=A

Comparing two equations

5x+7y+4z = 4x+16/3 z + 28/3 y \

& )
=7/3y+4/3 X \=—F
3x = 7y+4z \\‘\.

Now required percentage = 5m+7y+4z X 100/- 5x5+3x = 62. 5%
{ /

Question 42

Out of two-thirds of the total number of bLéketbaII mat /él/'zes a team has won 17 matches and lost 3 of them. What is the maximum

number of matches that the team can lose ‘an: wip/more than three- fourths of the total number of matches, if it is true that no

match can end in a tie? —

/’_\ .

A 4 0 1
[l ONEy
| ) ’y' |

B 6 g/ I. ,.7 )

C 5 [

|/
D 3 Q@
Answer: A \\\\;}.
)
© Video Solution
. W _z'll ,-"I
Explanation:' y
Total matches =17+43 =20

3
Total matches = 20*2 = 30
Number of wins required = 75% of 30 = 22.5 = 23 wins

23-17 = 6 more wins are required out of 10 matches to maintain 75% win recor which'means there would be 4 losses.
£

Va

Logical Reasoning for CAT Qpe/stio s (download pdf)

[~
[l

Downloaded from cracku.in


https://cracku.in/30-i-bought-5-pens-7-pencils-and-4-erasers-rajan-boug-x-cat-1996?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in/35-out-of-two-thirds-of-the-total-number-of-basketbal-x-cat-1996?utm_source=pdf&utm_medium=video&utm_campaign=video_solution
https://cracku.in/blog/logical-reasoning-for-cat-questions-pdf/
https://cracku.in

Take 3 Free CAT Mocks (WlthSolutlons)
CAT Prewous Papers PDF
Free CAT Exam Preparatlon App
CAT Formulas PDF [Download Now]
Top-500: Free CAT Questlons (With Solutions)
Free CAT Study Material
Fr.é-‘re‘ CAT P‘r’eparation Video Lectures
l‘»:'tlsai[y;F'ree CAT Practice Tests
CAT Syllabus (Download PDF)
Free Videos for CAT Preparation

CAT Percentile Predictor

Important Verbal Ability Questions for CAT (Download PDF)

\ § 4 Data Interpretation for CAT Questions (download pdf)

Logical Reasoning for CAT Questions (download pdf)
Quantitative Aptitude for CAT Quest‘iéﬁs (download pdf)
Know the CAT Percentile Reeuired for IIM Calls

Join MBA Telegram Group -
Enroll for Excellen'r CA:I'/MIBA courses
Cracku CAT sﬁcc‘e;g Stories

Subscribe to MBA\"F\)Ea’ms;‘Ybutube Channel

Join CAT 2022 Online Coaching

Downloaded from cracku.in


https://cracku.in/cat-mock-test
https://cracku.in/cat-previous-papers
https://play.google.com/store/apps/details?id=in.cracku.app&hl=en_IN
https://cracku.in/blog/cat-formulas-pdf/
https://cracku.in/cat-questions
https://cracku.in/cat-study-material
https://cracku.in/free-cat-video-lectures
https://cracku.in/cat-practice-tests
https://cracku.in/blog/cat-2018-syllabus-pdf/
https://cracku.in/cat/videos/free
https://cracku.in/percentile-predictor
https://cracku.in/blog/verbal-ability-for-cat-pdf/
https://cracku.in/blog/data-interpretation-for-cat-questions-pdf/
https://cracku.in/blog/logical-reasoning-for-cat-questions-pdf/
https://cracku.in/blog/quantitative-aptitude-for-cat/
https://cracku.in/cat-percentile-required-for-iim-calls
https://t.me/CatWithCracku
https://cracku.in/cat/pricing
https://cracku.in/cat/success-stories
https://www.youtube.com/channel/UCjrG4n3cS6y45BfCJjp3boQ?sub_confirmation=1
https://cracku.in

Downloaded from cracku.in


https://cracku.in

